2013 ATl FEICKIBETU—IEEHERXREBD BEMKE

3533

HMB4A ARRE - 1(EROB) =] K BEE% 20
BA4A FHEX BE B R 2 E1& & 20

A EEST BABEFR |
e || BE |FEER| EESE(ERIZ( ARG BEEEE| EEEE LERE I ERS
EER 0 0 0 0 0 0 0 0 0 0 0
EIZE# [ 00% | 00% 0;1).% 00% | 00% | 00% | 00% | 00% | 00% | 00% | 00%
EEEEHB o -3
S | EE [ra nBaa Ry Uy [FE as| O | MR | RaEE
=S 0 0 20 0 0 0 0 0 0
EIZ#® | 00% | 00% | 1000% | 00% | 00% | 00% | 00% | 00% | 00%
2. IRY 354 3. BEXHEHOIES
15 25 35 4% [mPEE BB EnER- B RDEE
EER 19 0 0 0 1 EZ# 19 0 1
EIE®= | 950% | 0.0% | 00% | 0.0% 5.0% E%=®E | 950% | 0.0% 5.0%

4. B RIROE B (EHGER)
BEEDS| ISR | AvsrnT| BEEIH | 204 |EDHEE

| EE® | 19 0 0 0 0

EIZE#® | 950% | 00% | 00% | 00% | 00% | 50%

] ﬂfE B - T EX - B
o LZREB | 5 4 3 2 1 % | £
&5 LR FHR | e [FAE | PP _[THTE (5E05C|HTAES| EE | EE
™ |HTEEB|HTEES| DALY [[FESEWL] B
= L o - 19 0 1 0 0
1 |BEOBIIREE T ORI ONTIVE, 4.90 4.66 350 0.0 o 0.0 0.0 20 0
= T — _ 18 2 0 0 0
2 |BEEIERIINATHTITHNTIVE, 4.90 464 300 100 0.0 0.0 0.0 20 0
U = e fm _ 17 2 1 0 0
3 |BEEZIIBSENLVRENMREENTIVE, 4.80 455 350 100 20 0.0 0.0 20 0
4 [FEEORBADLT (B - BRAEH-BEFREE | 495 456 18 1 0 0 0 19 ;
HENFEREZED) I TETHIEL, ) ) 94.7 5.3 0.0 0.0 0.0
5 [EERFEDFEERIETILIICLTUVE, 490 | 451 18 2 0 0 0 20 0
(BEDPERENTOER - BENORIEEED) . ) ) 90.0 10.0 0.0 0.0 0.0
HE-BEIZDOLT
COBEOEHICEE U FHHMIEENGNTTA 2| e | S| oAl | 15
6 |CEEFE-WE WA LA 1%02TEAY), | 250 | 204 | {TORSIERRERL 1 20 | 0
BE1RHEDOFHEFRMEZVTESL, 50 00 50 00 700
RIE RIE RIE RIE RIE
7 COBETRFELEIEIHIETH, 450 414 o] 1~2[@ | 3~4[E | 5@ |[6EUE 20 0
REBEEIRFECEDEE, : ) 13 4 3 0 0
65.0 20.0 15.0 0.0 0.0
% I 60~90% | 40~60% | 10~40% ® 5
g |COBRIHTS. BnEROBRES a0 | ag oo2E| wm | owm | oww |OORR) )
B S TBEATRE, : : 17 2 1 0 0
85.0 10.0 5.0 0.0 0.0
[EEIEELE]
- 1 0 0 0 0
28| B HERM 5.00 4.30 7000 5.0 5.0 0 0 1 19
L ELEE G - | 438 |2 0 0 0 0 0 20
LEBFYLERRESHFERED LB | coLHETHR E-FEFHTHA
50
45
40
3.5
3.0
25
2.0
15
1.0 : : : : : —t :
EG) i) 2%R93 % R4 $&R5 %R6 S%R7 EibL] E24=1




	Main

